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SIMPLE INTEREST

 [ lk/kj.k C;kt]

1. At a simple interest Rs. 850 becomes Rs. 1250
in 5 years. If the interest rate is increased by
5%, how much would Rs. 850 become in 4 years
?

:i;s 850 dh jkf'k fdlh nj ls 5 o"kZ esa :i;s 1250 gks
tkrh gSA ;fn C;kt dh nj 5% c<+k nh th;s] rks 4 o"kZ ds ckn
og fdruh gks tk,xh ?

(a) Rs. 1340 (b) Rs. 1430
(c) Rs. 1340.50 (d) None of these

2. A sum of Rs. 2525 is lent out in two parts in
such a way that the interest on one part at 7%
for 4 years is equal to that on another part at
6% for 7 years. Find the difference between the
two parts of the sum ?

:i;s 2525 dh jkf'k 2 Hkkxksa esa fuos'k dh tkrh gSA igys Hkkx
ij 7% C;kt dh nj ls 4 o"kZ ds fy, izkIr lk/kj.k C;kt
nwljs Hkkx ij 6% okf"kZd nj ls 7 o"kZ esa izkIr C;kt ds cjkcj
gSA nksuksa Hkkxksa dk varj Kkr djsa ?
(a) Rs. 505 (b) Rs. 1515
(c) Rs. 1010 (d) None of these

3. A sum of money becomes five times at the simple
interest rate of 8% per annum. At what rate
percent will it become seven fold ?

dksbZ jkf'k [kqn dk 8% lk/kj.k C;kt dh nj ls 5 xquk gks
tkrh gSA fdl C;kt dh nj ls og [kqn dk 7 xquk gks tk,xh?
(a)  6% (b) 10%
(c) 12% (d) 14%

4. A certain sum of money amounts to Rs. 5000 in
5 years at 10% per annum. In how many years
will it amoount to Rs. 6000 at the same rate ?

dskbZ jkf'k 5 o"kZ esa 10% C;kt dh nj ls :i;s 5000 gks tkrh
gSA fdrus le; esa og mlh nj ls :i;s 6000 gks tk,xh ?
(a)  8 years (b) 6 years
(c) 10 years (d) 9 years

5. A man wants to invest Rs. 3900 in account of
his two sons who are 14 years and 16 years old
in such a way that they will get equal amount
at the time of attaining the age of 18 years. If
rate of interest per annum is 10% then find the
amount he deposite in account of his younger
son ?

,d O;fDr vius nks iq=kksa tks fd 14 o"kZ vkSj 16 o"kZ ds gSa]
ds [kkrksa esssa :i;s 3900 bl izdkj tek djokuk pkgrk gS fd
tc os 18 o"kZ ds gks tk, rc mUgsa cjkcj jkf'k izkIr gksA ;fn

C;kt dh nj 10% okf"kZd jgh gks] rks NksVs iq=k ds [kkrs esa
tek dh xbZ jkf'k Kkr dhft, ?

(a) Rs. 1500 (b) Rs. 1200
(c) Rs. 1900 (d) Rs. 1800

6. A sum of Rs. 4000 is lent for 5 years at the rate
of 15% per annum. Find the interest ?

:i;s 4000 dh jkf'k izfr o"kZ 15% dh nj ls 5 lky ds fy,
nh tkrh gSA C;kt Kkr djsa \
(a) Rs. 3000 (b) Rs. 2000
(c) Rs. 1000 (d) None of these

7. In what time will Rs. 500 amount to Rs. 625 at
5 percent per annum ?

fdrus le; esa :i;s 500 izfro"kZ 5% dh nj ls :i;s 625

gks tk,axsa \
(a) 6 years (b) 5 years
(c) 10 years (d) None of these

8. A man will get Rs. 87 as simple interest on Rs.
725 at 4% per annum in ?

fdrus le; esa :i;s 725 dh jkf'k ij lk/kj.k C;kt :i;s
87 gks tk;sxk] ;fn C;kt dh nj 4% gS ?
(a) 3 years (b) 3½ years
(c) 4 years (d) 5 years

9. If the simple interest on Rs. 625 increases by
Rs. 25, when the time increases by 2 years. Find
the rate percent per annum ?

;fn :i;s 625 dh jkf'k nks o"kZ esa fdlh lk/kj.k C;kt dh
nj ij :i;s 25 c<+ tkrh gSA rc lk/kj.k C;kt dh nj Kkr
djsa ?
(a) 2% (b) 3%
(c) 1% (d) 0.5%

10. The simple interest on a sum of money is 1/16
of the principal and the number of years is equal
to the rate percent per annum. Find the rate
percent ?

;fn lk/kj.k C;kt fdlh jkf'k dk 1/16 gS vkSj o"kZ vkSj nj
nksuksa cjkcj gSA rc nj Kkr djsa ?

(a) 2
1

2
% (b) 3

1

3
%

(c) 4
1

2
% (d) None of these

11. If simple interest on Rs. 300 increases by Rs.
15, when the rate % increases by 4% per annum.
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Find the time  ?

:i;s 300 dh jkf'k ij lk/kj.k C;kt :i;s 15 c<+ tkrk gSA
tc C;kt dh nj 4% c<+ tkrh gSA le; Kkr djsa ?
(a) 1¼ years (b) 1 year
(c) 2¼ years (d) 2 years

12. The difference between the interests received from
two different banks on Rs. 1000 for 2 years is
Rs. 20. Thus the difference between their interest
rates is ?

:i;s 1000 dh jkf'k ij nks o"kZ esa vyx&vyx nks cSadksa ls
izkIr lkèkkj.k C;kt dk varj :i;s 20 gSA rks mudh C;kt
dh nj esa fdruk varj gS ?
(a) 2% (b) 1%
(c) 1.5% (d) 2.5%

13. Ashok borrowed some money at the rate of 6
percent per annum for the first two years, at the
rate of 9 percent per annum for the next three
years and at the rate of 14% percent per annum
for the period beyond five years. If he pays a total
interest of Rs. 11400 at the end of 9 years how
much  money did he borrow ?

v'kksd us dqN jkf'k 6% dh nj ls igys nks o"kZ ds fy, 9%

dh nj ls vxys rhu o"kZ ds fy, vkSj vxys ikap o"kZ ds fy,
14% dh nj ls m/kj yhA ;fn 9 o"kZ ds ckn mlus :i;s
11400 dk lk/kj.k C;kt fn;k gks rks jkf'k Kkr djsa ?
(a) Rs. 16000 (b) Rs. 14000
(c) Rs. 18000 (d) Rs. 12000

14. A sum of money becomes 6 times in 20 years at
SI. Find the rate of interest ?

dksbZ jkf'k 20 o"kZ esa [kqn dk 6 xquk gks tkrh gSA C;kt dh nj
Kkr djsa ?
(a) 20% (b) 15%
(c) 16% (d) 25%

15. In what time does a sum of money become four
times at the simple interest rate of 10% per
annum ?

fdrus le; esa dksbZ jkf'k 10% okf"kZd nj ls vius [kqn dk
4 xquk gks tk,xh ?
(a) 30 years (b) 25 years
(c) 35 years (d) 40 years

16. A certain sum is invested for certain time. It
amount to Rs. 450 at 7% annum. But then
invested at 5% per annum, it amounts to Rs.
350. Find the time ?

dksbZ jkf'k dqN le; ds fy, fuos'k dh tkrh gSA ;g 7% dh
nj ls :i;s 450 gks tkrh gSA ysfdu 5% dh nj ls :i;s 350

gks tkrh gSA le; Kkr djsa ?
(a) 50 years (b) 60 years
(c) 45 years (d) 40 years

17. A sum was put at SI at a certain rate for 4 years.
Had it been put at 4% higher rate, it would have
fetched Rs. 160 more. Find the sum ?

dksbZ jkf'k 4 o"kZ ds fy, lk/kj.k C;kt dh nj ls fuos'k dh
tkrh gSA ;fn ;g 4% T;knk nj ls nh tkrh gS rks :i;s 160

T;knk izkIr gksrs gSaA jkf'k Kkr djsa ?
(a) Rs. 1500 (b) Rs. 800
(c) Rs. 1200 (d) Rs. 1000

18. A sum of money lent out at simple interest
amounts to Rs. 560 in 3 years while in 5 years it
amount to Rs. 600. Find the sum and the rate
of interest ?

dksbZ jkf'k 3 o"kZ esa dksbZ lk/kj.k C;kt dh nj ls :i;s 560

gks tkrh gSA tcfd 5 o"kZ esa :i;s 600 gks tkrh gSA og jkf'k
vkSj nj Kkr djsa ?
(a) Rs. 400, 5% (b) Rs. 500, 4%
(c) Rs. 300, 5% (d) Rs. 400, 4%

19. A man had Rs. 2000, part of which he lent at 5
percent and the rest at 4 percent. The whole
annual interest was Rs. 92. How much did he
lend at 5 percent ?

,d vkneh :i;s 2000 dh jkf'k dk dqN Hkkx 5% C;kt dh
nj ls m/kj fn;k vkSj cpk gqvk Hkkx 4% dh nj ls m/kj
fn;kA ;fn dqy lk/kj.k C;kt :i;s 92 izkIr gqvk gks rks 5%

dh nj ls fdruh jkf'k m/kj nh xbZ Fkh ?
(a) Rs. 1200 (b) Rs. 800
(c) Rs. 700 (d) Rs. 1300

20. At a certain rate of simple interest Rs. 1600
amounted to Rs. 1840 in 5 years. If the rate of
interest be decreased by 3%, what will be the
amount after 5 years ?

:i;s 1600 dh jkf'k fdlh nj ls 5 o"kZ esa :i;s 1840 gks
tkrh gSA ;fn C;kt dh nj 3% ?kVk nh tk,] rks 5 o"kZ ds ckn
og fdruh gks tk,xh ?
(a) Rs. 1720 (b) Rs. 1680
(c) Rs. 1600 (d) Not possible

21. What principal will amount to Rs. 560 in 3 years
at 4 percent per annum simple interest ?

dkSu&lh jkf'k 3 o"kZ ds ckn 4 izfr'kr dh nj ls :i;s 560

dk feJèku nsxh ?
(a) Rs. 540 (b) Rs. 500
(c) Rs. 550 (d) Rs. 560

22. A sum of money becomes 4 times itself in 3 years
at a simple interest. In how many years will it
amount to 7 times itself ?

dksbZ jkf'k 3 o"kZ esa [kqn dk 4 xquk gks tkrh gSA og [kqn dk
7 xquk fdrus le; esa gks tk,xh ?
(a) 6 years (b) 12 years
(c) 8 years (d) None of these

23. The simple interest on Rs. 750 will be less than
the interest on Rs. 900 at 8% simple interest by
Rs. 60. Find the time ?

8% C;kt dh nj ls :i;s 900 ij izkIr lk/kj.k C;kt :i;s
60 T;knk gksxk] ;fn og :i;s 750 ij fn;k gksrkA le; Kkr
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djsa ?
(a) 3 years (b) 4 years
(c) 9 years (d) 5 years

24. The difference in simple interest on a certain sum
at 5% for 4 years and 6% for 3 years is Rs. 20.
Find the sum ?

fdlh jkf'k ij 3 Ok"kZ ds fy, 6% dh nj ls o 4 o"kZ ds fy,
5% dh nj ls izkIr lk/kj.k C;kt esa varj :i;s 20 gSA
mudh jkf'k Kkr djsa ?
(a) Rs. 1000 (b) Rs. 1200
(c) Rs. 800 (d) Rs. 900

25. The difference between the interest received from
two different banks on Rs. 450 for 4 years is Rs.
18. Find the difference between their rates ?

:i;s 450 dh jkf'k ij 4 o"kksa esa nks fofHkUu cSadksa ls izkIr lk/
kj.k C;kt esa vUrj :i;s 18 gSA muds C;kt dh njksa dk varj
Kkr djsa ?
(a) 2% (b) 1%
(c) 1.5% (d) 3%

26. A sum of money lent out at simple interest
amounts to Rs. 460 in 3 years while in 5 years it
amounts to Rs. 500. Find the rate of interest ?

dksbZ jkf'k 3 o"kks± esa fdlh lk/kj.k C;kt dh nj ls :i;s 460

gks tkrh gSA tcfd 5 o"kZ esa og :i;s 500 gks tkrh gSA nj
Kkr djsa ?
(a) 6% (b) 5%
(c) 4% (d) 3%

27. Some amount out of Rs. 950 was lent at 6% per
annum and the remaining at 4% per annum. If
the total simple interest from both the fractions
in 5 years was Rs. 200, find the sum lent at 6%
per annum ?

,d jkf'k tks :i;s 950 gSA mldk dqN Hkkx 6% dh nj ls]
cpk gqvk Hkkx 4% dh nj ls fuos'k dh tkrh gSA ;fn 5 o"kZ
ckn lk/kj.k C;kt :i;s 200 gks tk, rc 6% dh nj ij nh
x;h jkf'k crk,a ?
(a) Rs. 700 (b) Rs. 100
(c) Rs. 250 (d) Rs. 450

28. Out of a certain sum, 1/3rd is invested at 3%, 1/
6th at 6% and the rest at 8%. If the simple interest
for 2 years from all these investments amounts
to Rs. 600, find the original sum ?

fdlh jkf'k dk 1/3 Hkkx 3%, 1/6 Hkkx 6% vkSj cpk gqvk
Hkkx 8% dh nj ls fn;k x;k gSA ;fn 2 o"kZ ckn :i;s 600

lk/kj.k C;kt izkIr gks] rks jkf'k Kkr djsa ?
(a) Rs. 5000 (b) Rs. 6000
(c) Rs. 5200 (d) Rs. 5500

29. At what rate of interest per annum will a sum
double itself in 8 years ?

fdl lk/kj.k C;kt dh nj ls ,d jkf'k [kqn dk nksxquk tk;sxh
;fn le; 8 o"kZ gS ?

(a) 12½% (b) 5%
(c) 6% (d) 10½%

30. With a given rate of simple interest, the ratio of
principal and amount for a certain period of time
is 4 : 5. After 3 years, with the same rate of
interest, the ratio of the principal and amount
becomes 5 : 7. The rate of interest is ?

nh x;h lk/kj.k C;kt dh fdlh nj ls fdlh le;of/ ds fy,
ewy/u rFkk feJ/u 4 : 5 ds vuqikr esa gSA 3 o"kZ ds mijkar
mlh C;kt dh nj ls ewy/u dk feJ/u ls vuqikr 5 : 7 gks
tkrk gSA C;kt dh nj D;k gksxh ?
(a) 4% (b) 5%
(c) 7% (d) 7.5%

31. Out of Rs. 50,000, that a man has, he lends Rs.
8000 at 5½% per annum simple interest and Rs.
24,000 at 6% per annum simple interest. He
lends the remaining money at a certain rate of
interest so that he gets total annual interest of
Rs. 3680. The rate of interest per annum, at which
the remaining money is lent, is ?

,d vkneh vius :i;s 50,000 esa ls :i;s 8,000 lk/kj.k
C;kt dh 5½% okf"kZd nj ls rFkk :i;s 24,000, 6%

okf"kZd nj ls m/kj nsrk gSA 'ks"k /ujkf'k dks og lk/kj.k C;kt
dh gh ,d ,slh okf"kZd nj ls m/kj nsrk gS rkfd mls dqy
feykdj o"kZ esa :i;s 3680 C;kt ls izkIr gksA ftl okf"kZd
nj ls 'ks"k /ujkf'k m/kj nh x;h og D;k gS ?
(a) 5% (b) 7%
(c) 10% (d) 12%

32. A person invests Rs. 12,000 as fixed deposit at a
bank at the rate of 10% per annum simple
interest. But due to some pressing needs he has
to withdraw the entire money after 3 years, for
which the bank allowed him a lower rate of
interest. If he gets Rs. 3320 less than what he
would have got at the end of 5 years, the rate of
interest allowed by the bank is ?

,d vkneh ,d cSad esa 10% okf"kZd lk/kj.k C;kt dh nj
ls :i;s 12,000 lkof/ [kkrs esa tek djrk gS ysfdu 3 o"kZ
ckn og viuh t:jrksa ds fy, iwjh /ujkf'k cSad ls fudky
ysrk gS] ftl ij cSad de C;kt nj iznku djrk gSA ;fn og
5 o"kZ ds var esa feyus okyh /ujkf'k ls :i;s 3320 de
izkIr djrk gS] rks cSad }kjk th tkus okyh C;kt nj crk,a ?

(a) 7
5

9
% (b) 7

4

9
%

(c) 7
8

9
% (d) 8

7

9
%

33. If x, y, z are three sum of money such that y is
the simple interest on x and z is the simple
interest on y for the same time and at the same
rate of interest, then we have ?

rhu jkf'k;k¡ x, y, z bl izdkj gS fd y, x lk/kj.k C;kt rFkk
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z, y dk lk/kj.k C;kt gS bu nksuksa fLFkfr;ksa esa ;fn le; rFkk
okf"kZd nj leku gks rks x, y rFkk z esa lEcU/ D;k gS ?
(a) x2 = xy (b) xyz = 1
(c) x2=yz (d) y2=zx

34. The simple interest on a sum of money is 
8

25
 of

the sum. If the number of years is numerically
half the rate percent per annum, then the rate
percent per annum is ?

,d /ujkf'k ij lk/kj.k C;kt ml jkf'k dk 
8

25
 gSA ;fn o"kks±

dh la[;k izfr o"kZ nj dh izfr'krrk ls la[;kRed :i ls vk/
h gS] rks izfr o"kZ nj D;k gS ?
(a) 5 (b) 4
(c) 6¼ (d) 8

35. A sum of Rs. 7,930 is divided into 3 parts and
given at loan at 5% simple interest to A, B and
C for 2, 3 and 4 years respectively. If the amounts
of all three are equal after their respective periods
of loan, then the A received a loan of ?

:i;ksa 7,930 dh jkf'k 3 Hkkxksa esa foHkkftr dh tkrh gS vkSj
A, B ,oa C dks Øe'k% 2, 3 ,oa 4 o"kks± ds fy, 5% ds lk/
kj.k C;kt ij ½.k ds :i esa nh tkrh gSA ;fn le; vof/
iwjh gksus ij rhuksa dk feJèku cjkcj feys rks A us fdrus
:i;s dk ½.k fy;k Fkk ?
(a) Rs. 2,800 (b) Rs. 3,050
(c) Rs. 2,750 (d) Rs. 2,760

36. Arvind deposited a sum of money with a bank
on 1st January, 2012 at 8% simple interest per
annum. He received an amount 3,144 on 7th

August, 2012. The money he deposited with the
bank was ?

vjfoUn us ,d /ujkf'k 1 tuojh 2012 dks cSad esa 8%

okf"kZd lkèkkj.k C;kt dh nj ls fuos'k dh] mls 3,144 dh
/ujkf'k 7 vxLr 2012 dks cSad ls izkIr gqbZA mlus fdruh
/ujkf'k cSad esa fuos'k dh Fkh ?

(a) Rs. 3,080 (b) Rs. 2,500
(c) Rs. 3,000 (d) Rs. 3,100

37. If Rahim deposited the same amount of Rs. x in
a bank at the beginning of successive 3 years
and the bank pays simple interest of 5% annum,
then the amount at his credit at the end of 3rd

year will be ?

;fn jghe Øfed rhu o"kks± ds vkjaHk esa leku jkf'k :i;s x
,d cSad esa tek djrk gS vkSj cSad mls 5% izfro"kZ dk lk/
kj.k C;kt nsrk gS rks rhljs o"kZ ds var esa mlds [kkrs esa fdruh
jkf'k gksxh ?

(a) Rs. 
861x

400
(b) Rs. 

1261x

400

(c) Rs. 
21x

20
(d) Rs. 

26481x

8000

38. A man borrowed Rs. 10 and promised to pay back

in 11 equal monthly installments of Re. 1 each.
Find rate of simple interest per annum ?

,d O;fDr :i;s 10 m/kj ysrk gS rFkk 11 eghuksa esa :i;k
1 dh nj ls cjkcj ekfld fdLrksa ds :i esa pqdkus dk oknk
djrk gSA lk/kj.k C;kt dh okf"kZd nj Kkr djsa  ?

(a) 20% (b) 21
9

11
%

(c) 9
1

11
% (d) 10%

39. A refrigerator is available for Rs. 5,000 at cash
payment or is available for Rs. 1,000 cash
payment and a monthly instalments of Rs. 500
for 9 months. The rate percent per annum is ?

,d fÚt :i;s 5,000 udn vFkok :i;s 1,000 udn rFkk
ckfd :i;s 500 izfr ekg dh 9 ekfld fdLrksa esa miyC/
gks] rks C;kt dh okf"kZd nj Kkr djsa ?

(a) 33
1

3
% (b) 25%

(c) 27% (d) 25
1

3
%

40. An old article is available for Rs. 12,000 at cash
payment or is available for Rs. 7,000 cash
payment and a monthly instalment of Rs. 630
for 8 months. The rate percent per annum is ?

,d iqjkuh oLrq :i;s 12,000 udn vFkok :i;s 7,000

udn rFkk ckfd :i;s 630 izfr ekg dh 8 ekfld fdLrksa esa
miyC/ gks] rks C;kt dh okf"kZd nj Kkr djsa ?
(a) 1.2% (b) 2.1%
(c) 3.25% (d) 3.3%

41. The effective annual rate of interest,
corresponding to a nominal rate of 6% per annum
payable half yearly, is ?

C;kt dh izHkkoh okf"kZd nj] tks v/Zokf"kZd vk/kj ij ns; 6%

okf"kZd dh ukekafdr nj ls esy [kkrh gS] gksxh ?

(a) 6.06% (b) 6.07%
(c) 6.08% (d) 6.09%

42. A person sells two machines at Rs. 396 each.
On one he gains 10% and on the other he loses
10%. His profit or loss in the whole transaction
is ?

,d O;fDr :i;s 396 izfr e'khu dh nj ls nks e'khu csprk
gSA igyh e'khu ij mls 10% dk YkkHk gksrk gS rFkk nwljh
e'khu ij mls 10% dh gkfu gksrh gSA bl iwjs ysunsu esa mlds
ykHk rFkk gkfu dks Kkr djsa ?
(a) no gain no loss (b) 1% loss
(c) 1% profit (d) 8% profit

43. A house and a shop were sold for Rs. 1 lakh
each. In this transaction, the house sale resulted
into 20% loss whereas the shop sale into 20%
profit. The entire transaction resulted in ?
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1 ?kj rFkk 1 nqdku izR;sd dks 1 yk[k esa cspk x;kA edku
ij 20% dh gkfu gqbZ rFkk nqdku ij 20% dk ykHk gqvk]
rks iwjs lkSns dk ifj.kke D;k jgk ?

(a) no loss no gain (b) gain of Rs. 
1

24
 lakh

(c) loss of Rs. 
1

12
 lakh (d) loss of Rs. 

1

18
 lakh

44. A shopkeeper sells two T.V. sets at the same
price. There isa gain of 20% on one T.V. and a
loss of 20% on the other. State which of the
following statement is correct. ?

,d nqdkunkj cjkcj ewY;ksa ij nks Vh-oh- lsV csprk gSA ;fn
,d ij mls 20% dk ykHk gqvk rFkk nwljs ij mls 20% dh
gkfu gqbZ] rks buesa ls dkSu lk dFku lR; gS ?
(a) The shopkeeper makes no net loss and profit
(b) The shopkeeper loses by 2%
(c) The shopkeeper gains by 4%
(d) The shopkeeper loses by 4%

45. A man sells two articles at Rs. 99 each. In one
he gains 10% ad on the other he loses 10%. What
is his gain or loss percent on the whole
transaction ?

,d O;fDr :i;s 99 izfr oLrq dh nj ij nks oLrq,¡ csprk gSA
,d oLrq ij mls 10% dk ykHk gqvk rFkk nwljh oLrq ij mls
10% dh gkfu gqbZ] rks iwjs lkSns esa mldk ykHk ;k gkfu izfr'kr
Kkr djsa ?
(a) Loss 1% (b) Loss 1.5%
(c) Profit 1% (d) Profit 1.5%

46. A man sells two pipes at Rs. 12 each. He gains
20% on one and loses 20% on the other. In the
whole transaction, there is ?

,d O;fDr 12 :i;s@ikbi dh nj ls nks ikbi csprk gSA ,d
ij mls 20% ykHk gqvk rFkk nwljs ij mls 20% dh gkfu gqbZ]
rks iwjs lkSns dk urhtk D;k jgk ?

(a) neither loss nor gain(b) profit of Re. 1
(c) loss of Re. 1 (d) profit of Rs. 2

47. Bhuvnesh sells two tape recorders at the same
price. On one, he gains 10% and on the other he
loses 10%. The total gain or loss in the
transaction is ?

Hkqous'k nks VsifjdkWMZj leku dher ij csprk gSA igys
VsifjdkWMZj ij mls 10% ykHk gksrk gS rFkk nwljs VsifjdkWMZj
ij mls 10% dh gkfu gksrh gS] rks bl lkSns esa izfr'kr ykHk
;k gkfu Kkr djsa ?
(a) 1% gain (b) 1% loss
(c) no loss or gain (d) 2% loss

48. A man sells two tables at the same price. On
one he makes a profit of 10% and on the other
he suffers a loss of 10%. His loss percent on the
whole transaction is ?

,d O;fDr nks estksa dks leku dher ij csprk gSA igyh est
ij mls 10% ykHk gksrk gS rFkk nwljh est ij mls 10% gkfu
mBkuh iM+rh gS] iwjs lkSns esa mldh gkfu izfr'kr Kkr djsa ?
(a) 0% (b) 1%
(c) 2% (d) 5%

49. A trader sells two articles at Rs. 6000 each. He
makes a profit of 20% in the sale of the first
article and a loss of 20% in the sale of second
article. What is his net gain or loss percent ?

,d O;kikjh nks oLrqvksa esa ls izR;sd dks :i;s 6000 esa csprk
gSA igyh oLrq ij mls 20% ykHk gksrk gS rFkk nwljh oLrq ij
mls 20% dh gkfu gksrh gS] rks ykHk ;k gkfu izfr'kr Kkr
djsa ?
(a) 5% gain (b) 4% gain
(c) 5% loss (d) 4% loss

50. A television and a refrigerator were sold for Rs.
12,000 each. If the television was sold at a loss
of 20% of the cost and the refrigeratior at a gain
of 20% of the cost, the entire transaction resulted
in ?

,d Vsfyfotu rFkk ,d jsfÚtsjsVj izR;sd dks :i;s 12,000

esa cspk x;kA ;fn Vsfyfotu dks 20% gkfu ij rFkk jsfÚtsjsVj
dks 20% ykHk ij cspk x;k] rks iwjs lkSns dk ifj.kke D;k
jgk ?
(a) no loss or gain (b) loss of Rs. 1,000
(c) gain of Rs. 1,000 (d) loss of Rs. 1,200

51. Two bicycles were sold for Rs. 3990 each gaining
5% on one and losing 5% on other. The gain or
loss percent on the whole transaction is ?

nks lkbfdyksa dks 3990 :i;s@lkbfdy dh nj ls cspk x;kA
igyh lkbfdy ij 5% ykHk gksrk gS rFkk nwljh ij 5% gkfu
gksrh gS] rks iwjs lkSns ds ykHk ;k gkfu dk izfr'kr Kkr djsa ?
(a) neither gain nor loss(b) 2.5% gain
(c) 2.5% loss (d) 0.25% loss

52. A man sold two watches for Rs. 240 each. On
one he gains 20% and incurs a loss of 20% on
another. What is his gain or loss percent in this
transaction ?

,d O;fDr us nks ?kfM+;k¡ 240 :i;s@?kM+h dh nj ls csphA
igyh ?kM+h ij mls 20% ykHk gqvk rFkk nwljh ?kM+h ij mls
20% gkfu gqbZA rks iwjs lkSns esa mls fdrus izfr'kr dk ykHk ;k
gkfu gqbZ ?
(a) 1% profit (b) 2% loss
(c) 4% profit (d) 4% loss

53. A dealer sold two T.V. sets for Rs. 7400 each. On
one he gained 10% and on the other he lost 10%.
The dealer's loss or gain in the transaction is ?

,d Mhyj nks Vsfyfotu lsV 7400 :i;s@lsV dh nj ls csprk
gSA igys Vsfyfotu lsV ij mls 10% ykHk rFkk nwljs Vsfyfotu
lsV ij mls 10% gkfu gksrh gS] bl lkSns esa ykHk ;k gkfu Kkr
djsa  ?
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(a) No profit no loss (b) 1% gain
(c) 0.1% loss (d) 1% loss

54. A car and a jeep were sold for Rs. 2,40,000 each.
The car was sold at a loss of 20% while the jeep
at a gain of 20%. The entire transaction resulted
in ?

,d dkj rFkk ,d thi izR;sd dks 2,40,000 :i;s esa cspk
x;kA dkj ij 20% gkfu rFkk thi dks 20% ykHk ij cspk
x;kA rks iwjs lkSns esa ykHk ;k gkfu Kkr djsa ?
(a) neither loss nor gain(b) gain of Rs. 1,000
(c) loss of Rs. 20,000 (d) gain of Rs. 500

55. A man sold two chairs at Rs. 1,200 each. On
one he gained 20% and on the other he lost 20%.
He gain or loss in the whole transaction is ?

,d O;fDr 1,200 :i;s@dqlhZ dh nj ls nks dqflZ;k¡ csprk gS]
ftlesa ,d dqlhZ ij mls 20% ykHk gqvk rFkk nwljh ij mls
20% gkfu gqbZ] rks iwjs lkSns esa mls fdrus izfr'kr ykHk vFkok
gkfu gqbZ ?
(a) 1% loss (b) 2% loss
(c) 4% loss (d) 1% gain

56. A man sells two chairs at Rs. 120 each and by
doing so gains 25% on one chair and loses 25%
on the other. His loss on the whole in Rs. is ?

,d O;fDr :i;s 120 izfr dqlhZ dh nj ls 2 dqlhZ;ksa dks
csprk gS vkSj mls igyh dqlhZ ij 25% ykHk rFkk nwljh dqlhZ
ij mls 25% gkfu gksrh gS] mldh dqy gkfu (:i;s esa) Kkr
djsa ?
(a) Rs. 20 (b) Rs. 16
(c) Rs. 25 (d) Rs. 30

57. A dealer sold two types of goods for Rs. 10,000
each. On one of them, he lost 20% and on the
other he gained 20%, his gain or loss percent in
the entire transaction was ?

,d Mhyj :i;s 10,000 izfr oLrq dh nj ls nks oLrq,¡ csprk
gSA igyh oLrq ij mls 20% dh gkfu gksrh gS rFkk nwljh oLrq
ij mls 20% dk ykHk gksrk gS] rks iwjs lkSns esa ykHk ;k gkfu
izfr'kr Kkr djsa ?
(a) 2% loss (b) 2% gain
(c) 4% gain (d) 4% loss

58. A man sold two articles at Rs. 375 each. One
one, he gains 25% and on the other he loses
25%. The gain or loss % on the whole transaction
is ?

,d O;fDr us :i;s 375 izfr oLrq dh nj ls nks oLrq,¡ csphA
,d oLrq ij mls 25% ykHk gqvk rFkk nwljh oLrq ij mls
25% gkfu gqbZ rks iwjs lkSns esa ykHk ;k gkfu izfr'kr Kkr djsa?

(a) 6% loss (b) 4
1

6
% profit

(c) Rs. 50 profit (d) 6
1

4
% loss

59. Ram sold two horses at the same price. In one
he gets a profit of 10% and in the other he gets
a loss of 10%. The Ram gets ?

jke us nks ?kksM+s leku dher ij cspsA ,d esa mls 10% dk
ykHk gqvk rFkk nwljs esa 10% dh gkfu gqbZA jke dks dqy D;k
gqvk ?
(a) 1% loss (b) 1% profit
(c) no loss or profit (d) 2% loss

60. By selling an article for Rs. 240, a man incurs a
loss of 10%. At what price should he sell it, so
that he makes a profit of 20% ?

:i;s 240 esa ,d oLrq dks cspus ij ,d O;fDr dks 10%

dh gkfu gksrh gSA 20% ykHk dekus ds fy, mls bl oLrq dks
fdl dher ij cspuk pkfg, ?
(a) Rs. 264 (b) Rs. 288
(c) Rs. 300 (d) Rs. 320

61. A man wanted to sell an article with 20% profit,
but he actually sold at 20% loss for Rs. 480. At
what price he wanted to sell it to earn the profit?

,d O;fDr viuh oLrq dks 20% ykHk ij cspuk pkgrk gS
ysfdu og bls :i;s 480 esa 20% gkfu ij csp nsrk gSA rks
og vkjaHk esa bls fdl ewY; ij cspuk pkgrk Fkk ?
(a) Rs. 720 (b) Rs. 840
(c) Rs. 600 (d) Rs. 750

62. If an article is sold at 5% gain instead of 5%
loss, the man gains Rs. 5 more. Find the cost
price of that article ?

;fn ,d O;fDr ,d oLrq dh 5% gkfu ds cnys 5% ykHk ij
csprk gS rks mls 5 :i;s vf/d izkIr gksa rks oLrq dk ykxr
ewY; Kkr djsa ?
(a) Rs. 100 (b) Rs. 105
(c) Rs. 50 (d) Rs. 110

63. By selling an article for Rs.72, there is a loss of
10%. In order to gain 5%, its selling price should
be ?

,d oLrq dks 72 :i;s esa cspus ij 10% gkfu gksrh gSA 5%

ykHk dekus ds fy;s mls fdl dher ij cspuk pkfg, ?

(a) Rs. 87 (b) Rs. 85
(c) Rs. 80 (d) Rs. 84

64. On selling an article for Rs. 105 a trader loses
9%. To gain 30% he should sell the article at ?

,d O;kikj ,d oLrq dks ;fn 105 :i;s esa csprk gS] rks mls
9% dh gkfu gksrh gSA 30% ykHk dekus ds fy;s mls oLrq dks
fdl dher ij cspuk pkfg, ?
(a) Rs. 126 (b) Rs. 144
(c) Rs. 150 (d) Rs. 139

65. An article is sold at a loss of 10%. Had it been
sold for Rs. 9 more there would have been a gain
of 12½% on it. The cost price of the article is ?

,d oLrq dks 10% gkfu ij cspk tkrk gSA ;fn mls 9 :i;s
vf/d esa cspk tkrk rks 12½% dk ykHk gksrk] rks oLrq dk
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ykxr ewY; Kkr djsa ?

(a) Rs. 40 (b) Rs. 45
(c) Rs. 50 (d) Rs. 35

66. By selling a table for Rs. 350 instead of Rs. 400,
loss percent increases by 5%. The cost price of
table is ?

,d est dks 400 :i;s ds cnys 350 :i;s esa cspus ij 5%

gkfu c<+ tkrh gS] rks est dk ykxr ewY; Kkr djsa ?

(a) Rs. 1,050 (b) Rs. 417.50
(c) Rs. 435 (d) Rs. 1,000

67. By selling a tape-recorder for Rs. 950, one lose
5%. What percent shall one gain by selling it for
Rs. 1040 ?

,d VsifjdkWMZj dks 950 :i;s esa cspus ij ,d O;fDr dks
5% gkfu gksrh gSA ;fn VsifjdkWMZj dks 1040 :i;s esa cspk
tk, rks mls fdrus izfr'kr ykHk gksxk ?
(a) 5% (b) 4%
(c) 4.5% (d) 9%

68. A shopkeeper sells an article at a loss of 12½%.
Had he sold it for Rs. 51.80 more, he would have
earned a profit of 6%. The cost price of the article
is ?

,d nqdkunkj ,d oLrq dks 12½% gkfu ij csprk gS] ;fn
og ml oLrq dks 51.80 :i;s vf/d ewY; ij csps rks mls
6% ykHk gksxk] rks oLrq dk ykxr ewY; Kkr djsa ?

(a) Rs. 280 (b) Rs. 300
(c) Rs. 380 (d) Rs. 400

69. A person sells a table at a profit of 10%. If he
had bought the table at more, he would have
gained 20%. The cost price of the table is ?

,d O;fDr ls est dks 10% ykHk ij csprk gSA ;fn og est
dks 5% de ewY; ij [kjhndj 80 :i;s vf/d ewY; ij
csprk rks mls 20% dk ykHk gksrk] rks est dk ykxr ewY;
Kkr djsa ?

(a) Rs. 3,200 (b) Rs. 2,500
(c) Rs. 2,000 (d) Rs. 200

70. A tradesman sold an article at a loss of 20%. If
the selling price had been increased by Rs. 100,
there would have been a gain of 5%. The cost
price of the article was ?

,d O;kikjh ,d oLrq dks 20% gkfu ij csprk gSA ;fn oLrq
dk foØ; ewY; 100 :i;s c<+k fn;k tkrk gS] rks 5% ykHk
gksrk gSA oLrq dk ykxr ewY; Kkr djsa ?

(a) Rs. 200 (b) Rs. 25
(c) Rs. 400 (d) Rs. 250

71. An article is sold at a profit of 20%. If it had
been sold at a profit of 25%, it would have fetched
Rs. 35 more. The cost price of the article is ?

,d oLrq dks 20% ykHk ij cspk x;kA ;fn oLrq dks 25%

ykHk ij cspk tkrk rks mlls 35 :i;s vf/d vkenuh gksrh]
rks oLrq dk ykxr ewY; Kkr djsa ?

(a) Rs. 650 (b) Rs. 700
(c) Rs. 750 (d) Rs. 800

72. A man gains 20% by selling an article for a certain
price. If  he sells it at double the price, the
percentage of profit will be ?

,d oLrq dks fdlh fuf'pr ewY; ij cspdj ,d O;fDr
20% ykHk dekrk gSA ;fn og ml oLrq dks nksxquh dher ij
csprk rks mls fdrus izfr'kr dk ykHk gksrk \
(a) 40% (b) 140%
(c) 100% (d) 120%

73. By selling a plot of land for Rs. 45,000 a person
loses 10%. At what price shoudl he sell it to gain
15% ?

45,000 :i;s esa ,d Hkw[k.M dks cspus ij ,d O;fDr dks
10% gkfu mBkuh iM+rh gS] rks 15% ykHk dekus ds fy;s
Hkw[k.M dks fdrus :i;s esa cspk tk, ?
(a) Rs. 50,000 (b) Rs. 55,000
(c) Rs. 57,500 (d) Rs. 60,000

74. A radio is sold for Rs. 990 at a profit of 10%.
What would have been the actual profit or loss
on it had it been sold for Rs. 890 ?

,d jsfM;ks dks 10% ykHk ij 990 :i;s esa cspk x;kA ;fn
bls 890 :i;s esa cspk tkrk rks fdrus dk ykHk ;k gkfu
gksrh ?

(a) Rs. 10 loss (b) Rs. 10 profit
(c) Rs. 90 loss (d) Rs. 90 profit

75. A man sold an article at a loss of 20%. If he has
sold that article for Rs. 12 more he would have
gained 10%. Find the cost price of that article ?

,d O;fDr ,d oLrq dks 20% gkfu ij csprk gSA ;fn og
oLrq dks 12 :i;s vf/d ewY; ij csprk rks mls 10% dk
ykHk gksrk] oLrq dk Ø; ewY; Kkr djsa ?

(a) Rs. 60 (b) Rs. 40
(c) Rs. 30 (d) Rs. 22

76. If an article is sold for Rs. 178, at a loss of 11%,
what should be its selling price in order to earn
a profit of 11% ?

,d oLrq dks 11% gkfu mBkrs gq, 178 :i;s esa cspk tkrk
gS] rks 11% ykHk dekus ds fy, oLrq dk foØ; ewY; D;k
gksuk pkfg, ?

(a) Rs. 222.50 (b) Rs. 267
(c) Rs. 222 (d) Rs. 220

77. A man gets Rs. 13 more by selling an article at a
profit of 12½% than selling it at a loss of 12½%.
The cost price of the article is ?

fdlh oLrq dks 12½% gkfu ds cnys 12½% ykHk ij cspk
tkrk gS rks 13 :i;s vf/d feyrs gSaA rks oLrq dk Ø; ewY;
Kkr djsa ?

(a) Rs. 25.50 (b) Rs. 38
(c) Rs. 52 (d) Rs. 65

78. The percentage of loss which an article is sold
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Rs. 50 is the same as that of the profit when it
is sold at Rs. 70. The above mentioned percentage
of profit or loss on the article is ?

50 :i;s esa fdlh oLrq dks cspus ij mruh gh izfr'kr gkfu
gksrh gS ftruh izfr'kr ykHk mls 70 :i;s esa cspus ij gksrh
gSA oLrq ij izfr'kr ykHk ;k gkfu Kkr djsa ?

(a) 10% (b) 16
2

3
%

(c) 20% (d) 22
2

3
%

79. If a article is sold at a gain of 5% instead of
being sold at a loss of 5%, one gets Rs. 5 more.
What is the cost price of the article ?

;fn ,d oLrq 5% gkfu ds cnys 5% ykHk ij csph tkrh gS
rks ,d O;fDr dks 5 :i;s vf/d izkIr gksrs gSaA rks oLrq dk
ykxr ewY; Kkr djsa ?
(a) Rs. 100 (b) Rs. 105
(c) Rs. 50 (d) Rs. 110

80. A man sells an article at 10% more, he would
have gained 10%. The cost price of the article is
?

,d O;fDr ,d oLrq 10% gkfu ij csprk gSA ;fn og oLrq
dks 10 :i;s vf/d ewY; ij csprk rks mls 10% ykHk gksrk]
rks oLrq dk Ø; ewY; Kkr djsa ?

(a) Rs. 50 (b) Rs. 55
(c) Rs. 100 (d) Rs. 110

81. If a man were to sell his chair for Rs. 720, he
would lose 25%. To gain 25% he should sell it
for ?

;fn ,d O;fDr viuh dqlhZ dks 720 :i;s esa csprk gS] rks
mls 25% dh gkfu gksrh gS] rks 25% ykHk dekus ds fy, mls
dqlhZ dks fdl ewY; ij cspuk pkfg, ?
(a) Rs. 1,200 (b) Rs. 1,000
(c) Rs. 960 (d) Rs. 900

82. A bookseller sells a book at a profit of 10%. If he
had bought it at 4% less and sold it for Rs. 6

more, he would have gained 18
3

4
%. The cost

price of the book is ?

,d iqLrd foØsrk ,d fdrkc 10% ykHk ij csprk gSA ;fn
og ml fdrkc dks 4% de ewY; ij [kjhnrk rFkk 6 :i;s

vf/d ewY; ij csprk rks mls 18
3

4
% dk ykHk gksrkA iqLrd

dk Ø; ewY; Kkr djsa ?

(a) Rs. 130 (b) Rs. 140
(c) Rs. 150 (d) Rs. 160

83. A man sells his typewriter at 5% loss. If he sells
it for Rs. 80 more, he will gain 5%. The cost
price of the typewriter is ?

,d O;fDr 5% gkfu ij viuk VkbijkbVj csp nsrk gSA ;fn

og VkbijkbVj dks 80 :i;s vf/d ewY; ij csprk] rks mls
5% ykHk gksrk] rks VkbijkbVj dk Ø; ewY; Kkr djsa ?

(a) Rs. 1600 (b) Rs. 1200
(c) Rs. 1000 (d) Rs. 800

84. An increase of Rs. 3 in the selling price of an
article turns a loss of 7½% into a gain 7½%.
The cost price (in Rs.) of the article is ?

fdlh oLrq ds foØ; ewY; esa 3 :i;s dh òf¼ djus ls 7½%

dh gkfu ds cnys 7½% dk ykHk gksrk gSA rks oLrq dk Ø;
ewY; Kkr djsa \
(a) Rs. 25 (b) Rs. 20
(c) Rs. 15 (d) Rs. 10

85. By selling an article for Rs. 665, there is a loss
of 5%. In order to make a profit of 12%, the
selling price of the article must be ?

,d oLrq dks 665 :i;s esa cspus ij 5% gkfu gksrh gSA 12%

ykHk dekus ds fy, oLrq dk foØ; ewY; D;k gksuk pkfg, \
(a) Rs. 812 (b) Rs. 800
(c) Rs. 790 (d) Rs. 784

86. A businessman sells a commodity at 10% profit.
If he had bought it at 10% less and sold it for

Rs. 2 less, then he would have gained 16
2

3
%.

The cost price of the commodity is ?

,d O;kikjh ,d oLrq dks 10% ykHk ij csprk gSA ;fn og
oLrq dks 10% de ewY; ij [kjhnrk vkSj 2 :i;s de esa

csprk rks mls 16
2

3
% ykHk gksrk] rks oLrq dk ykxr ewY;

Kkr djsa \
(a) Rs. 32 (b) Rs. 36
(c) Rs. 40 (d) Rs. 48

87. A man sold an article at a loss of 20%. If he had
sold it for Rs. 50 more, he would have gained
5%. The cost price of the article was ?

,d O;fDr ,d oLrq dks 20% gkfu ij csprk gSA ;fn og
oLrq dks 50 :i;s vf/d ewY; ij csprk gS rks mls 5% ykHk
gksrk gS] oLrq dk Ø; ewY; Kkr djsa ?
(a) Rs. 250 (b) Rs. 300
(c) Rs. 180 (d) Rs. 200

88. A sells an article to B at a profit of 10%. B sells
the article back to A at a loss of 10%. In this
transaction ?

A ,d oLrq B dks 10% ykHk ij csprk gSA B iqu% A dks
10% gkfu ij oLrq csp nsrk gS] rks iwjs lkSns dk ifj.kke D;k
jgk \
(a) A neither loses nor gains
(b) A makes a profit of 11%
(c) A makes a profit of 20%
(d) B loss 20%

89. If the selling price of an article is doubled, then
its loss percent is converted into equal profit
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percent. The loss percent on the article is ?

oLrq ds foØ; ewY; dks nks xq.kk djus ij vkjaHk dh izfr'kr
gkfu ds cjkcj ykHk gksrk gSA rks oLrq dh izfr'kr gkfu Kkr
djsa \

(a) 26
2

3
% (b) 33%

(c) 33
1

3
% (d) 34%

90. A man sold some articles at a gain of 10%. He
spent his total sale proceeds to purchase such
articles again. This time, while selling them, he
incurred a loss of 10%. His loss or gain in the
transaction was ?

,d O;fDr us 10% ykHk ij dqN oLrqvksa dks cspkA mlus
viuh fcØh ds dqy iSlksa ls iqu% mlh izdkj ds leku dks
[kjhnkA ysfdu bl ckj bu oLrqvksa dks cspus ij mls 10%

gkfu gqbZA rks lkSns esa izfr'kr ykHk ;k gkfu Kkr djsa \
(a) 1% loss (b) 1% gain
(c) No profit no loss (d) 2% loss

91. By selling a basket for Rs. 19.50, a shopkeeper
gains 30%. For how much should he sell it to
gain 40% ?

,d Vksdjh dks 19.50 :i;s esa cspus ij ,d nqdkunkj dks
30% ykHk gksrk gS] rks 40% ykHk dekus ds fy;s mls Vksdjh
dks fdl dher ij cspuk pkfg, ?
(a) Rs. 21 (b) Rs. 21.50
(c) Rs. 24 (d) Rs. 23

92. A cooker is sold at a gain of 16%. If it had been
sold for Rs. 20 more, 20% would have been
gained. The cost priceof the cooker is ?

,d dqdj 16% ykHk ij cspk x;kA ;fn mls 20 :i;s vf/
d ewY; ij cspk tkrk gS rks 20% ykHk gksrk] rks dqdj dk
Ø; ewY; Kkr djsa \
(a) Rs. 350 (b) Rs. 400
(c) Rs. 500 (d) Rs. 600

93. An article is sold at a loss of 20%. It yields Rs.
60 more when it is sold at a gain of 20%. The
cost price of the article is ?

20% gkfu ij csph xbZ oLrq dks tc 20% ykHk ij cspk tkrk
gS rks 60 :i;s vf/d feyrs gSaaA rks oLrq dk Ø; ewY; Kkr
djsa \
(a) Rs. 200 (b) Rs. 150
(c) Rs. 140 (d) Rs. 120

94. By selling an article for Rs. 700 a man lost 30%.
At what price should he have sold it to gain 30%
?

700 :i;s esa fdlh oLrq dks cspus ij ,d O;fDr dks 30%

gkfu gksrh gSA rks 30% ykHk dekus ds fy, mls oLrq dks fdl
ewY; ij cspuk gksxk \
(a) Rs. 910 (b) Rs. 1200
(c) Rs. 1232 (d) Rs. 1300

95. A man purchased a bedsheet for Rs. 450 and
sold it at a gain of 10% calculated on the selling
price. The selling price of the bedsheets was ?

,d O;fDr us 450 :i;s esa ,d csM'khV [kjhndj mlus
foØ; ewY; ds 10% ykHk ij csp fn;kA rks csM'khV dk foØ;
ewY; Kkr djsa \
(a) Rs. 460 (b) Rs. 475
(c) Rs. 480 (d) Rs. 500

96. If an article is sold at 200% profit then the ratio
of its cost price to its selling price will be ?

;fn fdlh oLrq dks 200% ykHk ij cspk tkrk gS rks Ø; ewY;
rFkk foØ; ewY; dk vuqikr Kkr djsa \
(a) 1 : 2 (b) 2 : 1
(c) 1 : 3 (d) 3 : 1

97. An article is sold at 5% profit. The ratio of selling
price and cost price will be ?

,d oLrq dks 5% ykHk ij cspk tkrk gS rks foØ; ewY; rFkk
Ø; ewY; dk vuqikr D;k gksxk \
(a) 1 : 5 (b) 20 : 21
(c) 21 : 20 (d) 5 : 1

98. Anirudh sold a bicycle at a gain of 8%. Had it
been sold for Rs. 75 more, the gain would have
been 14%. The cost price of the bicycle was ?

vfu:¼ us 8% ykHk ij ,d lkbfdy csphA ;fn lkbfdy
dks 75 :i;s vf/d esa csprk rks 14% ykHk gksrk] rks
lkbfdy dk ykxr ewY; Kkr djsa \
(a) Rs. 1200 (b) Rs. 1250
(c) Rs. 1350 (d) Rs. 1500

99. By selling a bicycle for Rs. 2,850 a shopkeeper
gain 14%. If the profit is reduced to 8%, then
the selling price will be ?

2,850 :i;s esa ,d lkbfdy cspdj ,d nqdkunkj 14%

ykHk dekrk gSA ;fn ykHk ?kVdj 8% gks tkrk gS] rks foØ;
ewY; Kkr djsa \
(a) Rs. 2600 (b) Rs. 2700
(c) Rs. 2800 (d) Rs. 3000

100. By selling an article for Rs. 960 a man incurs a
loss of 4%; what was the cost price ?

960 :i;s esa ,d oLrq dks cspus ij ,d O;fDr dks 4% gkfu
gksrh gS] rks Ø; ewY; Kkr djsa ?
(a) Rs. 1000 (b) Rs. 784
(c) Rs. 4984 (d) Rs. 300

101. A fruit seller makes a profit of 20% by selling
mangoes at a certain price. If he charges Rs. 1
more for each mango, he can make a profit of
40%. Find the selling price of a mango in the
first case ?

,d fuf'pr ewY; ij vkeksa dks cspdj ,d fiQy foØsrk
20% ykHk dekrk gSA ;fn og :i;s 1 vf/d esa ,d vke
csprk gS rks mls 40% ykHk gksxkA igyh fLFkfr esa vke dk
foØ; ewY; Kkr djsa \
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(a) Rs. 6 (b) Rs. 5
(c) Rs. 5.50 (d) Rs. 7

102. If a man were to sell his handcart for Rs. 720,
he would loss 25%. To gain 25%, the selling price
is ?

,d O;fDr viuk fjD'kk :i;s 720 esa csprk gS] rks mls
25% dh gkfu gksrh gS rks 25% ykHk dekus ij fjD'kk dk
foØ; ewY; gksuk pkfg, \
(a) Rs. 960 (b) Rs. 1200
(c) Rs. 1000 (d) Rs. 2100

103. A grocery dealer cheats to the extent of 10% while
buying as well as selling by using false weight.
What is his increase in the profit percentage ?

xyr ckV dk iz;ksx djds ,d nqdkunkj [kjhnrs le; 10%

ykHk dekrk gS rFkk csprs le; Hkh 10% ykHk dekrk gS] rks
mlds izfr'kr ykHk esa fdruh o`f¼ gksxh \
(a) 20% (b) 21%
(c) 22% (d) None of these

104. A book vendor sold a book at a loss of 20%. Had
he sold it for Rs. 108 more, he would have earned
a profit of 30%. Find the cost price of the book ?

,d iqLrd foØsrk ,d fdrkc 20% gkfu ij csprk gSA ;fn
og fdrkc dks :i;s 108 vf/d ewY; ij csp nsrk rks mls
30% ykHk gksrk] rks fdrkc dk Ø; ewY; Kkr djsa \
(a) Rs. 216 (b) Rs. 648
(c) Rs. 240 (d) Rs. 432

105. A book vendor sold a book at loss of 10%. Had
he sold it for Rs. 108 more, he would have earned
a profit of 10%. Find the cost of the book ?

,d iqLrd foØsrk ,d fdrkc 10% gkfu ij csprk gSA ;fn
og fdrkc dks :i;s 108 vf/d ewY; ij csprk rks mls
10% ykHk gksrk] rks fdrkc dk Ø; ewY; Kkr djsa \
(a) Rs. 442 (b) Rs. 540
(c) Rs. 648 (d) Rs. 740

106. Dinesh bought two radios for Rs. 1,920, he sold
one at a profit of 20% and the other at a loss

6
2

3
%. If the selling price of both radios are same,

then find the cost price of both radios ?

fnus'k us :i;s 1920 esa nks jsfM;ksa [kjhnsA ,d mlus 20% ykHk

ij rFkk nwljs dks 6
2

3
% gkfu ij csp fn;kA ;fn nksuksa jsfM;ksa

dk foØ; ewY; cjkcj gS rks nksuksa jsfM;ksa dk Ø; ewY; Kkr
djsa \
(a) Rs. 800 and Rs. 1120
(b) Rs. 840 and Rs. 1080
(c) Rs. 860 and Rs. 1060
(d) Rs. 900 and Rs. 1020

107. A loss of 19% get converted into a profit of 17%
when the selling price is increased by Rs. 162.
The cost price of the article is ?

;fn foØ; ewY; dks :i;s 162 c<+k fn;k tk, rks 19% gfu
ds cnys 17% ykHk gksrk gS] rks oLrq dk Ø; ewY; Kkr djsa \
(a) Rs. 450 (b) Rs. 600
(c) Rs. 360 (d) Rs. 540

108. The reduction of Rs. 12 in the selling price of an
article will changes 5% gain into 2½% loss. The
cost price of the article is ?

fdlh oLrq ds foØ; ewY; esa :i;s 12 dg deh gks tkus ls
5% ykHk ds cnys 2½% dh gkfu gksrh gS] rks oLrq dk Ø;
ewY; Kkr djsa \
(a) Rs. 140 (b) Rs. 160
(c) Rs. 80 (d) Rs. 100

109. An article was sold at a profit of 12%. If the cost
price would be 10% less and selling price would
be Rs. 5.75 more, there would be profit of 30%.
Then at what price it should be sold to make a
profit of 20% ?

,d oLrq 12% ykHk ij csph xbZA ;fn Ø; ewY; 10% de
gksrk vkSj foØ; ewY; :i;s 5.75 vf/d gksrk rks 30% ykHk
gksrk] rks 20% ykHk dekus ds fy;s oLrq dks fdl dher ij
cspk tkuk pkfg, \
(a) Rs. 115 (b) Rs. 120
(c) Rs. 138 (d) Rs. 215

110. By selling a table for Rs. 1140, a man loses 5%.
In order to gain 5%, the table must be sold for  ?

1140 :i;s esa ,d est dks cspus ij ,d O;fDr dks 5%

dh gkfu gksrh gS] rks 5% YkkHk dekus ds fy, est dks fdrus
:i;s esa cspk tkuk pkfg, \
(a) Rs. 1260 (b) Rs. 1320
(c) Rs. 1180 (d) Rs. 1250

111. A radio dealer sold a radio at a loss of 2.5%.
Had he sold it for Rs. 100 more, he would have
gained 7½%. In order to gain 12½% he should
sell it for ?

,d jsfM;ksa foØsrk us ,d jsfM;ks 2.5% gkfu ij cspkA ;fn og
jsfM;ks dks 100 :i;s vf/d ewY; ij csprk rks mls 7½%

ykHk gksrkA 12½% ykHk dekus ds fy, mls jsfM;ks dks fdrus
:i;s esa cspuk pkfg, \
(a) Rs. 1080 (b) Rs. 1125
(c) Rs. 850 (d) Rs. 925

112. By selling a fan for Rs. 600, a man losses 10%.
To make a gain of 20%, the selling price of the
fan should be ?

600 :i;s esa ,d ia[ksa dks cspus ij ,d O;fDr dks 10%

gkfu gksrh gS] rks 20% ykHk dekus ds fy;s ia[ksa dk foØ;
ewY; fdruk :i;k gksuk pkfg, \
(a) Rs. 900 (b) Rs. 1000
(c) Rs. 700 (d) Rs. 800

113. On selling an article for Rs. 170, a shopkeeper
losses 15%. In order to gain 20%, he must sell
that article at rupees ?
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,d oLrq dks 170 :i;s esa cspus ij ,d nqdkunkj dks 15%

dh gkfu gksrh gSA rks 20% ykHk dekus ds fy;s mls oLrq dks
fdrus :i;s esa cspuk pkfg, \
(a) Rs. 215.50 (b) Rs. 212.50
(c) Rs. 240 (d) Rs. 210

114. An article is sold at a gain of 15%. Had it been
sold for
Rs. 27 more, the profit would have been 20%.
The cost price of the article is ?

,d oLrq dks 15% ykHk ij cspk x;kA ;fn mls 27 :i;s
vf/d ewY; ij cspk tkrk rks 20% gksrk] rks oLrq dk Ø;
ewY; Kkr djsa \
(a) Rs. 500 (b) Rs. 700
(c) Rs. 540 (d) Rs. 545

115. A man sells an article at a gain of 15%. If he had
bought it at 10% less and sold it for Rs. 4 less,
he would have gained 25%. The cost price of the
article is ?

,d O;fDr 15% ykHk ij ,d oLrq dks csprk gSA ;fn og
bl oLrq dks 10% de dher ij [kjhnrk rFkk 4 :i;s vf/
d ewY; ij csprk rks mls 25% ykHk gksrk] rks oLrq dk Ø;
ewY; Kkr djsa ?

(a) Rs. 140 (b) Rs. 150
(c) Rs. 160 (d) Rs. 185

116. An article is sold at a loss of 10%. Had it been
sold for
Rs. 90 more, there would have been a gain of
5%. The original sale price of the article (in Rs.)
is ?

,d oLrq dks 10% gkfu ij cspk x;kA ;fn mls 90 :i;s
vf/d ewY; ij cspk tkrk rks 5% ykHk gksrk rks oLrq dk
okLrfod foØ; ewY; (:i;ksa esa) Kkr djsa ?
(a) Rs. 540 (b) Rs. 600
(c) Rs. 628 (d) Rs. 650

117. A man sold an article at a loss of 20%. If he
could sell it for Rs. 200 more, he would make a
profit of 5%. The cost price of the article is ?

,d O;fDr us 20% gkfu ij ,d oLrq csphA ;fn og ml oLrq
dks 200 :i;s vf/d ewY; ij csprk rks mls 5% ykHk gksrkA
rks oLrq dk ykxr ewY; Kkr djsa ?
(a) Rs. 700 (b) Rs. 800
(c) Rs. 850 (d) Rs. 900

118. A businessman bought an article and sold it at
a loss of 5%. If he had bought it for 10% less
and sold it for Rs. 33 more, he would have had a
profit of 30%. The cost price of the article is ?

,d O;kikjh us ,d lkeku [kjhnk vkSj mls 5% gkfu ij csp
fn;kA ;fn og lkeku dks 10% de ewY; ij [kjhnrk vkSj 33

:i;s vf/d ewY; ij csprk rks mls 30% ykHk gksrkA rks oLrq
dk ykxr ewY; Kkr djsa ?
(a) Rs. 330 (b) Rs. 155

(c) Rs. 150 (d) Rs. 300
119. An article was sold at 16% gain. Had it been

sold for Rs. 200 more, the gain would have been
20%. Then the cost price of the article is ?

1 oLrq 16% ykHk ij csph xbZA ;fn mls 200 :i;s vf/d
ewY; ij cspk tkrk] rks 20% ykHk gksrk] rks oLrq dk Ø;
ewY; Kkr djsa ?
(a) Rs. 5000 (b) Rs. 4800
(c) Rs. 4500 (d) Rs. 5200

120. A shopkeeper sells an article at 15% gain. Had
he sold it for Rs. 18 more, he would have gained
18%. The cost price (in Rs.) of the article is ?

,d nqdkunkj us ,d oLrq 15% ykHk ij csphA ;fn og oLrq
dks 18 :i;s vf/d ewY; ij csprk rks mls 18% ykHk gksrk]
rks oLrq dk Ø; ewY; Kkr djsa ?
(a) Rs. 540 (b) Rs. 318
(c) Rs. 600 (d) Rs. 350

121. Mohan sold his watch at 10% loss. If he had
sold it for Rs. 45 more, he would have made 5%
profit. The cost price (in Rs.) of the watch was ?

eksgu us 10% gkfu ij viuh ?kM+h csp nhA ;fn og ?kM+h dks
45 :i;s vf/d ewY; ij csprk rks mls 5% ykHk gksrk] rks
?kM+h dk foØ; ewY; (:i;ksa esa) Kkr djsa ?
(a) Rs. 300 (b) Rs. 900
(c) Rs. 110 (d) Rs. 270

122. If the selling price of a product is increased by
Rs. 162, then the businessman will make a profit
of 17% instead of loss of 19%. The cost price of
the product is ?

,d oLrq ds foØ; ewY; 162 :i;s dh òf¼ dj nsus ij ,d
O;kikjh dks 19% gkfu ds cnys 17% ykHk gksrk gSA rks oLrq
dk Ø; ewY; Kkr djsa ?
(a) Rs. 360 (b) Rs. 450
(c) Rs. 540 (d) Rs. 600

123. A tradesman sold an article at a loss of 20%. If
the selling price had been increased by Rs. 100,
there would have been a gain of 5%. The cost
price of the article (in Rs.) was ?

,d O;kikjh ,d oLrq 20% gkfu ij csprk gSA ;fn foØ;
ewY; 100 :i;s c<+k fn;k tkrk gS rks 5% ykHk gksrk gSA rks
oLrq dk Ø; ewY; Kkr djsa ?
(a) Rs. 100 (b) Rs. 200
(c) Rs. 400 (d) Rs. 500

124. A dealer sold a bicycle at a profit of 10%. Had he
bought the bicycle at 10% less price and sold it
at a price Rs. 60 more, he would have gained
25%. The cost price of the bicycle was ?

,d Mhyj ,d lkbfdy 10% ykHk ij csprk gSA ;fn og
lkbfdy 10% de nke ij [kjhnrk rFkk 60 vf/d nke ij
csprk rks mls 25% ykHk gksrk] rks lkbfdy dk Ø; ewY; Kkr
djsa ?
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(a) Rs. 2400 (b) Rs. 2200
(c) Rs. 2000 (d) Rs. 2600

125. A radio is sold at a profit of 20%. Had it been
sold for Rs. 60 more than profit would have been
30%. The cost price of the radio is ?

,d jsfM;ks dks 20% ykHk ij cspk x;kA ;fn bls 60 :i;s
vf/d ewY; ij cspk tkrk rks 30% ykHk gksrk rks jsfM;ks dk
Ø; ewY; Kkr djsa ?

(a) Rs. 600 (b) Rs. 620
(c) Rs. 550 (d) Rs. 500

126. A man sells an article at 5% above its cost price.
If he had bought it at 5% less  then what he had
paid for it and sold it at Rs. 2 less, he would
have gained 10%. The cost price of the article is
?

,d vkneh fdlh oLrq dks mlds ykxr ewY; ls 5% vf/d
ij csprk gSA ;fn mlus mlds fy, ftruk Hkqxrku fd;k mlls
5% de ij [kjhnk gksrk vkSj 2 :i;s de ij cspk gksrk] rks
mls 10% dk ykHk gksrkA oLrq dk ykxr ewY; Kkr djsa ?
(a) Rs. 300 (b) Rs. 400
(c) Rs. 200 (d) Rs. 100

127. There would be a 10% loss. If rice is sold at Rs.
54 per kg. To earn a profit of 20% the price of
rice per kg. will be ?

;fn pkoy dks :i;s 54 izfr fdxzk- dh nj ls cspk tkrk gS]
rks 10% dh gkfu gksrh gSA 20% ykHk izkIr djus ds fy,
pkoy dh izfr fdxzk- fdruh dher gksxh ?
(a) Rs. 72 (b) Rs. 70
(c) Rs. 63 (d) Rs. 65

128. Pooja wants to sell a watch at a profit of 20%.
She bought at at 10% less and sold it at Rs. 30
less, but still she gained 20%. The cost price of
watch is ?

iwtk dks ,d ?kM+h cspus ij 20% dk ykHk gksrk gSA ;fn mlus
og ?kM+h 10% de ij [kjhnh gksrh vkSj :i;s 30 de ij
csph gksrh rks mls 20% dj ykHk gqvk gksrkA ?kM+h dk ykxr
ewY; D;k gS ?
(a) Rs. 240 (b) Rs. 250
(c) Rs. 220 (d) Rs. 225

129. A profit of 12% is made when a mobile phone is
sold at Rs. P and there is 4% loss when the phone
is sold at Rs. Q. The Q : P is ?

;fn eksckby iQksu :i;s P dh nj ij cspk tk, rks 12% dj
ykHk gksrk gS vkSj ;fn :i;s Q ij cspk tk, rks 4% dh gkfu
gksrh gSA Q : P D;k gksxk ?
(a) 1 : 1 (b) 6 : 7
(c) 4 : 5 (d) 3 : 1

130. An article is sold at profit of 25%. If the selling
price is doubled, the profit percent will be ?

dksbZ oLrq 25% ds ykHk ij csph tkrh gSA ;fn fcØh ewY;
nqxquk dj fn;k tk, rks ykHk fdrus izfr'kr gksxk ?

(a) 200% (b) 150%
(c) 100% (d) 50%

131. A man purchased an article for Rs. 1500 and
sold it at 25% above the cost price. If he has to
pay Rs. 75 as tax on it his net profit percentage
will be ?

,d O;fDr us ,d oLrq :i;s 1500 esa [kjhnh vkSj ykxr
ewY; ls 25% vf/d ij mls csp fn;kA ;fn mls bl ij 75

:i;s dj ds :i esa nsuk iM+k gS rks mlds fuoy ykHk dh
izfr'krrk D;k gksxh ?

(a) 25% (b) 30%
(c) 15% (d) 20%

132. If a man were to sell his hand-cart for Rs. 720,
he would lose 25%. At what price must he sell
to gain 25% ?

;fn ,d O;fDr viuh gFk&xkM+h dks 720 :i;s esa csprk gS
rks mls 25% dh gkfu gksrh gSA 25% dk ykHk dekus ds fy,
mls og xkM+h fdruh dher ij cspuh gksxh ?
(a) Rs. 960 (b) Rs. 1152
(c) Rs. 768 (d) Rs. 1200

133. By selling an article for Rs. 450, I lose 20%. For
what amount, should I sell it to gain 20% ?

,d oLrq dks :i;s 450 esa cspus ij eq>s 20% dh gkfu gksrh
gSA 20%   ykHk izkIr djus ds fy, eSa mls fdruh jkf'k esa
csprk ?
(a) Rs. 657 (b) Rs. 470
(c) Rs. 490 (d) Rs. 562.50

134. A shopkeeper sold an article at a loss of 20%.
But if he could sell it a Rs. 200 more, he could
earn a profit of 5%. The cost price of the article
is ?

,d nqdkunkj us dksbZ oLrq 20% gkfu ij csphA ;fn og mls
:i;s 200 vf/d esa csprk rks mls 5% ykHk gksrkA ml oLrq
dh ykxr dher crkb, ?
(a) Rs. 600 (b) Rs. 800
(c) Rs. 1000 (d) Rs. 1200

135. By selling some goods at Rs. 31, a salesman loses
7% on his output. Find the percentage profit or
loss, when he sells the same at Rs. 35 ?

dqN lkeku :i;s 31 esa cspus ij] lsYlesu dks vius mRiknu
ij 7% dh gkfu gksrh gSA rks ml lkeku dks :i;s 35 esa cspus
ij mls fdrus izfr'kr ykHk ;k gkfu gksxh ?
(a) Loss 7% (b) Profit 5%
(c) Loss 5% (d) Profit 7%

136. The marked price of an article is 10% higher than
cost price. A discount of 10% is given on marked
price. In this kind of sale, the seller bears ?

fdlh oLrq dk vafdr ewY; mlds ykxr ewY; ls 10% vf/
d gSA vafdr ewY; ij 10% dh NwV nh tkrh gS rks foØsrk
dk izfr'kr ykHk ;k gkfu Kkr djsa ?
(a) No loss no gain (b) A loss of 5%
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(c) A gain of 1% (d) A loss of 1%
137. A dealer makes a profit of 20% even after giving

a 10% discount on the advertised price of a
scooter. If he makes a profit of Rs. 7500 on the
sale of the scooter, the advertised price was ?

,d LdwVj ds foKkfir ewY; ij 10% NwV nsus ds ckotwn ,d
Mhyj 20% ykHk dekrk gSA ;fn mls 7500 :i;s ykHk gksrk
gS] rks LdwVj dk foKkfir ewY; Kkr djsa ?
(a) Rs. 45000 (b) Rs. 47500
(c) Rs. 50000 (d) Rs. 52500

138. A shopkeeper earns a profit of 12% on selling a
book at 10% discount on the printed price. The
ratio of the cost price and the printed price of
the book is ?

,d nqdkunkj vafdr ewY; ij 10% NwV nsus ds i'pkr~ 12%

ykHk dekrk gS] rks Ø; ewY; rFkk vafdr ewY; dk vuqikr
Kkr djsa ?
(a) 99 : 125 (b) 25 : 37
(c) 50 : 61 (d) 45 : 56

139. A tradesman allows a discount of 15% on the
marked price. How much above the cost price
must he mark his goods as to gain 19% ?

,d O;kikjh viuh oLrqvksa ds vafdr ewY; ij 15% NwV nsrk
gSA rks mls oLrqvksa ij fdruk izfr'kr ewY; c<+kdj vafdr
djuk pkfg, rkfd mls 19% ykHk gks ?
(a) 34% (b) 40%
(c) 25% (d) 30%

140. Rita bought a television set with 20% discount
on the labelled price. She made a profit of Rs.
800 by selling it for Rs. 16,800. The labelled price
of the set was ?

jhVk us vafdr ewY; ij 20% dh NwV izkIr djrs gq, ,d
Vsfyfotu dks 16,800 :i;s esa cspdj 800 :i;s ykHk
dek;k] rks Vsfyfotu dk vafdr ewY; Kkr djsa ?
(a) Rs. 18,000 (b) Rs. 20,000
(c) Rs. 20,800 (d) Rs. 24,000

141. If the profit percent got on selling an article is
numerically equal to its cost price in rupees and
the selling price is Rs. 39, then cost price (in
Rs.) will be ?

fdlh oLrq dks cspus ij izfr'kr ykHk vafdr :i ls mlds
ykxr ewY; (:i;ksa esa) ds cjkcj gSA ;fn oLrq dk foØ;
ewY; 39 :i;s gS rks ykxr ewY; (:i;ksa esa) Kkr djsa ?
(a) Rs. 20 (b) Rs. 22
(c) Rs. 28 (d) Rs. 30

142. The cost price of an article is Rs. 800. After
allowing a discount of 10%, a gain of 12.5% was
made. Then the marked price of the article is ?

,d oLrq dk Ø; ewY; 800 :i;s gSA 10% NwV nsus ij
12.5% ykHk gksrk gS] rks oLrq dk vafdr ewY; Kkr djsa ?
(a) Rs. 1,000 (b) Rs. 1,100
(c) Rs. 1,200 (d) Rs. 1,300

143. A shopkeeper allows 23% commission on his
advertised price and still makes a profit of 10%.
If he gains Rs. 56 on one item, his advertised
price of the item, in Rs. is ?

,d nqdkunkj foKkfir ewY; ij 23% deh'u nsus ds ckotwn
10% ykHk dekrk gSA ;fn os oLrq ij :i;s 56 ykHk dekrk
gS rks oLrq dk foKkfir ewY; Kkr djsa ?
(a) Rs. 820 (b) Rs. 780
(c) Rs. 790 (d) Rs. 800

144. The marked price of an article is 50% above cost
price. When marked price is increased by 20%
and selling price is increased by 20%, the profit
doubles. If original marked price is Rs. 300, then
original selling price is ?

,d oLrq dk vafdr ewY; mlds ykxr ewY; ls 50% vf/
d gSA tc vafdr ewY; dks 20% c<+k fn;k x;k gS vkSj foØ;
ewY; dks 20% c<+k fn;k tkrk gS rks ykHk nksxquk gks tkrk gSA
;fn okLrfod vafdr ewY; :i;s 300 gks] rks okLrfod
foØ; ewY; gksxk ?

(a) Rs. 200 (b) Rs. 250
(c) Rs. 240 (d) Rs. 275

145. A fan is listed at Rs. 150 and a discount of 20%
is given. Then the selling price is ?

,d ia[ksa ij :i;s 150 ewY; vafdr fd;k x;k vkSj 20%

dh NwV nh xbZ] rks foØ; ewY; D;k gksxk ?

(a) Rs. 180 (b) Rs. 150
(c) Rs. 120 (d) Rs. 110

146. The gain 8% after allowing a discount of 10%,
by what percent cost price should be hiked in
the list price ?

fdlh oLrq ij ykxr ewY; ls fdruk izfr'kr ewY; c<+kdj
vafdr fd;k tk, fd 10% NwV nsus ij Hkh 8% ykHk gks ?
(a) 9% (b) 11%
(c) 18% (d) 20%

147. The cost of manufacture of a tape recorder is
Rs. 1,500. The manufacturer fixes the marked
price 20% above the cost of manufacture and
allows a discount in such a way as to get a profit
of 8%. The rate of discount is ?

,d VsifjdkWMZj dk mRiknu ewY; :i;s 1500 gSA mRiknd
VsifjdkWMZj dh ewY; mRiknu ewY; ls 20% c<+kdj vafdr
djrk gS vkSj bl izdkj NwV nsrk gS fd ml 8% ykHk gksrk
gS] rks NwV dk izfr'kr Kkr djsa   ?
(a) 12% (b) 8%
(c) 20% (d) 10%

148. How much percent above the cost price should a
shopkeeper marks his goods so as to earn a profit
of 32% after allowing a discount of 12% on the
marked price ?

12% NwV nsus ds ckotwn 32% ykHk dekus ds fy, nqdkunkj
dks viuh oLrq ij ykxr ewY; ls fdruk izfr'kr vf/d ewY;
vafdr djuk pkfg, ?
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(a) 50% (b) 40%
(c) 60% (d) 45%

149. A dealer purchased a washing machine for Rs.
7,660. After allowing a discount of 12% on its
marked price, he still gains 10%. Find the marked
price of the washing machine ?

,d Mhyj us :i;s 7,660 esa ,d okf'kax e'khu [kjhnhA
vafdr ewY; ij 12% NwV nsus ds i'pkr~ mls 10% dk ykHk
gksrk gS] rks okf'kax e'khu dk vafdr ewY; Kkr djsa ?
(a) Rs. 9,575 (b) Rs. 8,426
(c) Rs. 8,246 (d) Rs. 9,755

150. A publisher printed 2000 copies of a book at a
cost of Rs. 70,000. He distributed 400 copies free
as specimen copies. He gave 30% discount on
marked price of each book which is Rs. 75. What
is his gain or loss percentage ?

,d izdk'kd us :i;s 70,000 dh ykxr ij ,d fdrkc dh
2000 izfr;k¡ NkihA mlus 400 izfr;k¡ Lis'kheSu izfr ds rkSj
ij eqÝr ck¡VhA og izR;sd fdrkc ij 30% NwV nsrk gS vkSj
izR;sd fdrkc dk ewY; :i;s 75 gS rks mldh izfr'kr ykHk
;k gkfu Kkr djsa ?
(a) 20% gain (b) 20% loss
(c) 10% loss (d) 10% gain

Answer Sheet

1. (d) 2. (d) 3. (a) 4. (b) 5. (b) 6. (a) 7. (c) 8. (d) 9. (b) 10. (c)
11. (b) 12. (a) 13. (a) 14. (d) 15. (d) 16. (d) 17. (b) 18. (a) 19. (a) 20. (d)
21. (d) 22. (b) 23. (b) 24. (d) 25. (c) 26. (d) 27. (d) 28. (b) 29. (d) 30. (c)
31. (c) 32. (c) 33. (c) 34. (c) 35. (d) 36. (a) 37. (c) 38. (d) 39. (c) 40. (b)
41. (c) 42. (b) 43. (c) 44. (d) 45. (a) 46. (c) 47. (b) 48. (b) 49. (d) 50. (b)
51. (d) 52. (d) 53. (d) 54. (c) 55. (c) 56. (b) 57. (d) 58. (d) 59. (a) 60. (d)
61. (a) 62. (c) 63. (d) 64. (c) 65. (a) 66. (d) 67. (b) 68. (a) 69. (c) 70. (c)
71. (b) 72. (b) 73. (c) 74. (a) 75. (b) 76. (c) 77. (c) 78. (b) 79. (c) 80. (a)
81. (a) 82. (c) 83. (d) 84. (b) 85. (d) 86. (c) 87. (d) 88. (b) 89. (c) 90. (a)
91. (a) 92. (c) 93. (b) 94. (d) 95. (d) 96. (c) 97. (c) 98. (b) 99. (b) 100. (a)
101. (a) 102. (b) 103. (b) 104. (a) 105. (b) 106. (b) 107. (a) 108. (b) 109. (c) 110. (a)
111. (b) 112. (d) 113. (c) 114. (c) 115. (c) 116. (a) 117. (b) 118. (c) 119. (a) 120. (c)
121. (a) 122. (b) 123. (c) 124. (a) 125. (a) 126. (b) 127. (a) 128. (b) 129. (b) 130. (b)
131. (d) 132. (d) 133. (a) 134. (b) 135. (b) 136. (d) 137. (c) 138. (d) 139. (b) 140. (b)
141. (d) 142. (a) 143. (d) 144.  (b) 145. (d) 146. (d) 147. (d) 148. (a) 149. (a) 150. (a)


